
SAP EDUCATION 

SAMPLE QUESTIONS: C_TBIT51_73 

SAP Certified Technology Associate -Process Integration with SAP NetWeaver (PI 7.3)    

Disclaimer: These sample questions are for self-evaluation purposes only and do not appear on the actual certification 

exams. Answering the sample questions correctly is no guarantee that you will pass the certification exam. The certification 

exam covers a much broader spectrum of topics, so do make sure you have familiarized yourself with all topics listed in the 

exam competency areas before taking the certification exam.  

Questions 
1. What is the benefit of configuring rule-based alerts using alert categories?  
 
Note: There are 2 correct answers to this question.     
 

a)  O  Mapping runtime errors can be forwarded to the mapping 
developer. 

b)  O  Communication channel status errors can be forwarded to 
the basis administrator.  
 

c)  O  Adapter Framework Connectivity errors can be forwarded to 
the basis administrator. 

d)  O         Status errors can be forwarded to the basis administrator if            

the Adapter Engine crashes 

 
 
 

2. Events can be used to delay message processing. 
Which steps are required to configure event-controlled message processing?  
 
Note: There are 3 correct answers to this question.     
 

a)  O  Schedule a job in the Integration Server to process the 
delayed messages. 

b)  O  Define sender and receiver IDs in the Integration Server. 

c)  O  Configure a message filter in the communication channel. 

d)  O  Configure a message filter in the Integration Server. 

e) O Set the Integration Engine parameter "balancing" to 1 in the 
Integration Server. 

 
 

3. How can you control the size of the database used in an SAP NetWeaver Process Integration system?  



 
Please choose the correct answer.     
 

a)  O  Remove exceptions from the availability planning for the 
communication channels.  

b)  O  Set up a threshold for the message size. When the threshold 
is reached, an event will trigger jobs to archive / delete 
messages.  

c)  O  Activate the automatic archiving function and define the 
retention period of each message.  

d)  O  Based on their interfaces, decide which messages should be 
archived / deleted, define retention periods, and schedule 
archiving and deletion jobs.  

 
 

4. What are the three types of communication components in the Integration Directory?  
 
Please choose the correct answer.          
 

a)  O  Name  
 Namespace  
 Software Component Version 

b)  O  Business Component  
 Integration Process  
 Business System 

c)  O  Business Service  
 Application Service  
 Abstract Service 

d)  O  Business System  
 Logical System  
 Application Component 

 
 
 

5. Which Object do you create when implementing local message processing using the Advanced Adapter 
Engine?  
 
Please choose the correct answer.     
 

a)  O  Integrated Configuration Object  

b)  O  Receiver Determination Object 

c)  O  Adapter Object  

d)  O  Integration Process Object  

 



 

6. How can you modify an XSLT mapping used in an operation mapping?  
 
Note: There are 2 correct answers to this question.    
 

a)  O  XSLT  

b)  O  C++  

c)  O   .Net  

d)  O  Java  

e) O Message Mapping 

 
 

7.  Which engine is used to process a ccBPM process? 
 
 Please choose the correct answer.   
 

a)  O  Advanced Adapter Engine  

b)  O  Integration Engine  

c)  O  Mapping Engine  

d)  O  Business Process Engine 

 
 

8. SAP NetWeaver provides the Enterprise Services Repository Content (ESR Content). 
What is one of the advantages of using ESR Content?   
 
Please choose the correct answer. 
 

a)  O  Extended monitoring capabilities based on predefined 
business objects  

b)  O  Fast implementation based on preconfigured content that 
supports industry standards  

c)  O  Additional configuration options for the Advanced Adapter 
Engine Extended  

d)  O  High user acceptance based on standard compliant user 
interfaces  

 

9. How can you describe a provider proxy?  
 



Please choose the correct answer.    
 

a)  O  A provider proxy is a language-specific implementation of an 
inbound service interface.  

b)  O  A provider proxy is an ABAP program used in ALE 
distribution.  

c)  O  A provider proxy is a language-specific implementation of an 
outbound service interface.  

d)  O  A provider proxy is a Java class used in the Advanced Adapter 
Engine.  

 
 

10. Which post-installation configuration tasks are performed by the configuration wizard?  
 
Note: There are 3 correct answers to this question.    
 

a)  O  Generate profiles for ABAP roles.  

b)  O   Set the Integration Engine to log synchronous messages.  

c)  O  Configure the role of the Integration Server.  

d)  O  Configure the Change Management Server.  

e) O Import SAP_Basis content into the Enterprise Services Repository 

(ES Repository). 

 

11. Which types of acknowledgment are available for asynchronous communication in Process 
Integration?  
 
Note: There are 2 correct answers to this question.    
 

a)  O  Java Acknowledgment  

b)  O  ABAP Acknowledgment  

c)  O  Application Acknowledgment  

d)  O  HTTP Acknowledgment  



e) O System Acknowledgment 

 

12. Which of the following pipeline steps belong to logical routing?  
 
Note: There are 2 correct answers to this question.    
 

a)  O  Interface Determination  

b)  O  Message Split According to Receiver List  

c)  O  Request Message Mapping  

d)  O   Call Adapter  

e) O Receiver Determination 

Solutions 

1 a) Correct  2 a) Correct  3 a) Incorrect  4 a) Incorrect  5 a) Correct  

1 b) Incorrect  2 b) Correct  3 b) Incorrect  4 b) Correct  5 b) Incorrect  

1 c) Correct  2 c) Incorrect  3 c) Incorrect  4 c) Incorrect  5 c) Incorrect  

1 d) Incorrect  2 d) Correct  3 d) Correct  4 d) Incorrect  5 d) Incorrect  

   2 e) Incorrect         

6 a) Correct  7 a) Incorrect  8 a) Incorrect  9 a) Correct  10 a) Correct 

6 b) Incorrect  7 b) Incorrect  8 b) Correct  9 b) Incorrect  10 b)  Incorrect 

6 c) Incorrect  7 c) Incorrect  8 c) Incorrect  9 c) Incorrect  10 c) Correct 

6 d) Correct  7 d) Correct  8 d) Incorrect  9 d) Incorrect  10 d) Incorrect 

6 e) Correct       10 e) Correct 

11 a) Incorrect  12 a) Correct     

11 b) Incorrect  12 b) Incorrect     

11 c) Correct  12 c) Incorrect     

11 d) Incorrect  12 d) Incorrect     

11 e) Correct 12 e) Correct    

 

Want to learn more? Contact SAP for more information.     

 

http://www.sap.com/contactsap/

